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EXAMPLES OF ASSESSMENT DISTRIBUTION  

WITH MUST-PASS REQUIREMENT 
 

 

Example 1 - No Must-pass  

 

Assessment Component Percentage   

CA 60   

FA 40   

    

Must-pass Assessment Component  
Cut-off Point 

(%) 

Cut-off Point 

(Absolute Value) 

    

    

Total 100   

 

 

Example 2 - Only CA Must-pass  

 

Assessment Component Percentage   

FA 40   

    

    

Must-pass Assessment Component  
Cut-off Point 

(%) 

Cut-off Point 

(Absolute Value) 

CA 60 50 30 

    

Total 100   

 

 

Example 3 - Only FA Must-pass  

 

Assessment Component Percentage   

CA 60   

    

    

Must-pass Assessment Component  
Cut-off Point 

(%) 

Cut-off Point 

(Absolute Value) 

FA 40 50 20 

    

Total 100   
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Example 4A - Both CA and FA Must-pass (60:40)  

 

Assessment Component Percentage   

    

    

    

Must-pass Assessment Component  
Cut-off Point 

(%) 

Cut-off Point 

(Absolute Value) 

CA 60 35 21 

FA 40 35 14 

Total 100   

 

 

Example 4B - Both CA and FA Must-pass (50:50) 

 

Assessment Component Percentage   

    

    

    

Must-pass Assessment Component  
Cut-off Point 

(%) 

Cut-off Point 

(Absolute Value) 

CA 50 35 17.5 

FA 50 35 17.5 

Total 100   

 

 

Example 4C - Both CA and FA Must-pass (40:60) 

 

Assessment Component Percentage   

    

    

    

Must-pass Assessment Component  
Cut-off Point 

(%) 

Cut-off Point 

(Absolute Value) 

CA 40 40 16 

FA 60 40 24 

Total 100   

 

 

 

 

 

 

 


